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PART A — (10 x 2 = 20 marks)
Answer any TEN pﬁ.mmﬂobm.

Define exact equation.

Slevellw FETUM. 6L euengum. . -

Reduce the equation ¥ =1+(y)? into the first
order equation.
y'=1+(y)  eenp

SLELITLT&S GDDES.

PSHLIG

FLOGTUTL L

Transform the Bernoulli's equation xy' +y = x*y®

into a linear equation.

xy' +y=x*y® eremp .chggﬂ%ég EloETTL enL_
Grflw swetLTL_ s LorHo.

Find the general solution of y” =e*.

¥" =e* erenm swemuT g6 QUGS Sirepeus Emams.

Ll

Eliminate the from

Z=(x*+a)(y* +b).

arbitrary  constants

Z = (2% + a)(y* + b) erémp swenLT 4 OMbs rCaims
wrilelaamer $&Es. q

Eliminate the  arbitrary function from

Z=x+y+f(xy).
Z=x+y+f(xy) eemp m_b%_.l_:_.l.s.%@.aw_ aCasens

grienu B&@s.

Find the complete integral of pg=1.

pg=1 eem sweur er apew Ggrasusi s

SITEHT.

Define singular solution.

S Sirameu eumTT).
PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Show that the equation

—cosxcos? ydx +2sinxsin ycos ydy =0

is exact and hence solve.

— cosicos® ydx + 2sinx sin ycos ydy = 0 )
getUr() gleveSluinrer FOITH eTans Sty STés.
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2

=1

Show that e¢* and e are linearly independent
solutions of " —y =0 on any interval.

apsbaind @ Geuaflulgud e* whmib e eremuiet
Y'-y=0 eerp FLAUT 46T QMDD QTN &FTITS

Sreyger erend s
Find the general solution of y"+ y' -6y =0.
¥y’ +_.& -6y =0 aranudlen Qungs Sieneus srars.

If x, =€”, =€ and x, =€, y, =2¢" are two
solutions of a linear system, then find their

Wronskian.

x=e", y =€ wpmbd x;=e*, y,=2e* aeuen
em Cpflu Cesrguler @@ Steysdr aefld, <iser

grenevdlimenan sesrHidl..

Find the auxillary equations of Mmu -3x+4y,
dy :
—=-2x+3y.
T3 e
dx dy -
—=-3x+4y, —=- 3y eret ; Fafla
a x+ .e. 1t 2x + 3y aemnp Foetum@aetes
SIDERTE FLOETLIN (HFHENETE GiTEHT.
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14.

15.

16.

17.

Show that x* is one solution of x%y"+xy'—4y=0
and hence find the general solution.

2.

x* erémgl x2y" +xy' — 4y 5.0 e FLETLTL 16T G

Eiey arans slly, S QUTES m@@.@_ &TER.

Solve the system- of equations. m =x+y,
dy

—=4x-2

dt - —ay

mm =x+y, %nr =4x -2y ﬂ@.e FuoenLim_ (b
Qgr@Libmens Si.

Form the partial differential equation by
eliminating arbitrary function from

Z=f(x+it)+ g(x—it), where i =+/—1.

i=+-1 ergud Gung Z=f(x+it)+g(x—it) eramp

mEmiE:_.ls.%@.a@ Q@m%@m FMTEnL ._mm@mw.
Solve : ,bwmw +q¢*=1.

8irés: p’2+¢* =1.

4 72078/TAM3B.
[P.T.0.]



18.

19.

20:

21.

Solve the ,o.p#mewo.b Bx” - y*)dy—2xydx =0 by
_mu&u.m. an integrating factor. =
: + sen( g 55
(8x* - y*)dy — 22y dx =0 arémp sweUT L Si.

QgrensiS G N mqqa%.%f

“Solve : py(l+£%)=qx?.

Sigs bw.eﬁ +a?) = gx.

PART C — (3x'10 = 30 marks)

Answer any THREE questions.

‘Find the shape of a curved mirror such that light

from a source at the origin will vm.n..ommonmmg.b a
beam of rays parallel to the x-axis. .
&%B%@H@ au(mLd . gallssheapmw . X-nNEHEES
@8.&5_.59. Qrdudisss Qenb’ aueeTps i

| S USDSE ETERTE.

Solve : y"-3y'+2y =14sin2x ~18cos2x.

&iss . y" -3y +2y =14sin2x - 18cos2x.
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22.

23.

24.

dx

" Solve the system of equations T bx + A..e ,
dy
—=-x+y.
T Yy
m = ma + A.v... % =-x +.e. erenm  FoeUT(HS
QAsrglilamens Siés.

‘Solve: (mz - ny)p- (nx-lz)g=1ly —mx.

&iés: (mz —ny)p—(nx—lz)g=1ly —mx.

-Solve by Charpits method : 2* = pgixy .

2% = pgxy erenp m_bmw.:.._:_.l.s.gg grmaled penmLiLtg

gnéa.
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